
 ٢٠١٠/٢٠١١                                                                                        متقن جامعة 

  ٢+١ سنوات الثانية ع تج

  اختبار الثلاثي الأولتصحيح 

  )٦( التمرين الأول
 T ∆ P/  ∆ =   a                :ا	��� ���ب  ....١١١١

= P٢٢٢٢ -P١١١١ / T٢٢٢٢ -T١١١١                                                    
                                  =500-325/383,33-250 =175/133,33 

                                                          a =1,3 × 103                         
                                            ×T a =P    

                 ����                ×T١١١١,,,,٣٣٣٣×١٠١٠١٠١٠-٣٣٣٣ =P        

٢٢٢٢.... ���=١٠٠١٠٠١٠٠١٠٠ oC   θ    أي    T= ٣٧٣٣٧٣٣٧٣٣٧٣oK    ن&'( 
     Pa  ١١١١,,,,٣٣٣٣×١٠١٠١٠١٠----٣٣٣٣×٣٧٣٣٧٣٣٧٣٣٧٣ = ٤,٨٥٤,٨٥٤,٨٥٤,٨٥ ×٥٥٥٥١٠١٠١٠١٠=P        

 : ا	/�زات ا	�,�	�+ *�(&ن ....٣٣٣٣
                                       T.R.n=V.P 

P= n.R ×T                ����                        
                                                  V  

 
     ����: و�����89ر4�6 45 ا	 ....٤٤٤٤

a= n.R                 ١٠١٠١٠١٠٣٣٣٣             أي أن×    nR  =١,٣١,٣١,٣١,٣     
V                                                         V  

�� ���ب آ��+ ا	��دة   ....٥٥٥٥(�	:a = n.R/V     إذن   n = a.V/R:     
mol ١,٢٥١,٢٥١,٢٥١,٢٥=n        ١,٣١,٣١,٣١,٣×٣٣٣٣١٠١٠١٠١٠ ×٨٨٨٨×١٠١٠١٠١٠----٨,٣١٨,٣١٨,٣١٨,٣١/٣٣٣٣= n        

    :  m = n × M  و5�n = m / M  E:   ���ب آBC+ ا	/�ز 
                                           g٤٠٤٠٤٠٤٠=m     ١,٢٥١,٢٥١,٢٥١,٢٥ ×٣٢٣٢٣٢٣٢= m   

  

  )٦( التمرين الثاني
<I<íÚøÃÖ]<Ä•çe<ívév’Ö]<ì…^fÃÖ]<°Â<<E�<D<<<g‰^ß¹]<á^Ó¹]<»J< <

١. <íje^m<ìçÎ<ØÛÂ<ì…^fÂF<ÐÊæ<^ãÏéfŞi<íŞÏÞ<ØÏjßi< AB <Ù^ÏjÞ÷]<ÄÚ<Äß’iæAB<<íèæ]‡<α< <
� W= F BAB<Bcos(α) � W= F BAB<Bsin(α)<� W= F BAB<Bα<

٢. <íŞÏÞ<àÚ<ä×Ïm<ˆÒ†Ú<Ù^ÏjÞ]<‚ßÂ<ÜŠq<ØÏm<ØÛÂ<ì…^fÂA<íŞÏÞ<±c<B J< <
� W= P (zA+zB)<� W= P (zB - zA)<� W= P (zA- zB)<

٣. <í×jÓÖ]<‹ËÞ<°ÛŠ¢<á^Ò<]ƒcm١= m٢<^ÛãéjÂ†‰<°e<íÎøÃÖ]æ<v٢ =١ v٢<<J<éjÎ^�<°e<íÎøÃÖ]<áçÓi<íéÒ†£]<^Ûã< <
� Ec1= Ec2 � Ec1= 2.Ec2<� Ec1= 4.Ec2<

٤. <íÂ†ŠÖ]<‹ËÞ<°ÛŠ¢<á^Ò<]ƒ]v١= v٢<^Ûãéj×jÒ<°e<íÎøÃÖ]æ<m٢ =١ m٢<<J<<íéÒ†£]<^ÛãéjÎ^�<°e<íÎøÃÖ]<áçÓiV< <
� Ec1= Ec2 � Ec1= 2.Ec2<� Ec1= 4.Ec2<

٥ . Ö^ÏnÖ]<íßÚ^ÓÖ]<íÎ^ŞÖ]<ádÊ<]†u<^�çÏ‰<š…ù]<î×Â<<ÜŠq<½çÏ‰<<‚ßÂ<í×Ûr×Ö<íéE<ÜŠq<G<š…_D< <
<<�]�ˆi�< <<<íje^m<îÏfi�< <<<“Î^ßji�< <

٦. <íéÒ†£]<äjÎ^�<ádÊ<]†u<^�çÏ‰<š…ù]<î×Â<ÜŠq<½çÏ‰<‚ßÂV< <
<<�]�ˆi�< <<<íje^m<îÏfi�< <<<“Î^ßji�< <

    
ívË’Ö]<g×Î_< <
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  )٨( لثالتمرين الثا
� �H*+ ا	'�5�+ ا	,�G	�+*��+ ا	    ....١١١١��  :A  

 j ٤,٨٤,٨٤,٨٤,٨ = AEpp         

٢٢٢٢.... * ��� +�	�G,	ا +� :��B+ ا	�H*+ ا	'�5
  j ٨٨٨٨ =BppE          

٣٣٣٣....  +(&*�H	ا +B�NO	4 ا�P +B�QB	A وB: 
  
  
        
        
        
            
        
  
٤٤٤٤.... B�QB	 +(&*�H	ا +B�NO	4 ا�P +B   وC: 
        
        
        
        
        
        
        
        
        

 :45 ا	��8ن ....٧٧٧٧
  Bt = ٠,٤٠,٤٠,٤٠,٤ :   s	TO+ ا(9�ام ا	�H*+ ا	ROآ�+  

 Ct = ١١١١,,,,٠٣٠٣٠٣٠٣  :            s	GX +TO&ط ا	'Rة 
  
        

 EppA= m.g.hA ⇒⇒⇒⇒ hA = EppA/m. g   :hA ا]ر�Z6ع
 m ٤٤٤٤,,,,٨/٠٨/٠٨/٠٨/٠,,,,٤٤٤٤×١٠١٠١٠١٠ =  ١١١١,,,,٢٢٢٢= Ah        

 EppB= m.g.hB ⇒⇒⇒⇒ hB = EppB/m. g  :hB ا]ر�Z6ع
 m ٨٨٨٨ /٠٠٠٠,,,,٤٤٤٤×١٠١٠١٠١٠ =  ٢٢٢٢= Bh   

  :ا(�ZOظ ا	�H*+ �95د	+ 
EcA + EppA = EcB + EppB 
 

                       EcA = EppB -EppA :ا	�H*+ ا	ROآ�+  ....٥٥٥٥

                                  

EcA = 8 - 4,8 =  3,2j       
      +�RX ةR'	ف اb*:  

EcA = ½.mvA
2 ⇒⇒⇒⇒ vA =√2 EcA/m 

vA =√2 ×3,2/0,4  =  4 m/s    
 +*�H	ظ ا�ZO)+ ا	�95د:  

EcB + EppB = EcC + EppC 
 

     CEc ⇒⇒⇒⇒  CEc = BEpp = ٨٨٨٨ j  :    ا	�H*+ ا	ROآ�+ ....٦٦٦٦
       

 +�RX ط&GXةR'	ا :  
EcC = ½.mvC

2 ⇒⇒⇒⇒ vA =√2 EcC/m 
VC =√2 × 8 /0,4  =  6,32 m/s    

٨٨٨٨....  45g	ا +	[�P +آ�RO	ا +*�H	ا R�/6 h�O�5 i�95آ
 +�	�G,	ا +��R�/6 h ا	�H*+ ا	'�5O��	: 

Eci + Eppi = cte  ⇒⇒⇒⇒ Eci + Eppi = 8 j 
 

 A B C 
t(s) 0 0,4 1,03 
Ec (j) 3,2 0 8 
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<<<<<<<<<<<ÏÊçÚ{{áç< <<ì�^¹]<ƒ^j‰_Vêq^Þ< <
 


